Calcular el valor de Beta para un termistor NTC sobre el que se han medido dos
resistencias a dos temperaturas diferentes:

e R(25°C) = 10000 ohmios
e R(50°C) = 3605 ohmios
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Please input resistance-temperature pairs:
(Don't use the Enter key)

R (Q) T (°C)
R1: 10000 | TI:[25
R2: 3605 | T2:[50 |
R3: 1500 | T3:|75 |
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Calculated Steinhart-Hart model coefficients: %o

Tea,
A =11.036930255 e-3

B =(2.499372478 e-4 20 30 40 50 60 70 80
C
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Calculated B model coefficients: Model Calculator

(R3 and T3 are not used) (The coefficients shown on the left are used)

R(25°C) =|10000.00 Q R e
(25°6)= 110000 | 250000 | $-H model
B=|3931.98 K Seemoce
Use | 1 keys 25.0000 B model




